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A (i)

Note :

Ty7 397 A9 8, 519 7 G f5a] diT & 3o S )

Question No. 1 is compulsory, answer any THREE questions from the remaining.

(ii) mm%mﬁwﬁaﬁmwmmaﬁﬁm

(ii

Solve all parts of a question consecutively together.
i) NeI% 59 #7978 8 IR Ford |

Start each question on fresh page.

(iv) 1 19137 § 3 517 1 117 § it e @ = 8 |

1. 4B

()

Only English version is valid in case of difference in both the languages.

&rTa 1 gt e A PR e g 7

(a) fifrR (b) HHH

(c) TEHR (d) IHIH A HE T

Who decides the costing from the following ?.

(a) An Engineer _ (b) Surveyor

(¢) Accountant (d) None of above

TE T & w0 AR R _
(a) el @ + %9 S (b) vered wmTe + Hedt e

(c) U AT + FUTEIYS AN (d)  HH A + S A
What is meant by prime cost ?

(a) Material cost + Labour cost

(b) Material cost + Factory cost

(c¢) Material cost + Administrative cost

(d) Labour cost + Factory cost

(10f12) P.T.O.
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3) w-frefghmiasmat 7

)

&)

(6)

(a) el AT Y@ 9 feha 9o T w1 wfess g |
(b) TR wwTE @ 9 Fa @FTa W@ & Afaes fawg |
(c) TR amTa o fosra oo T &1 wfteg fomg |
(d) 3UE H & 1S TR

Which of the following is the Break Even Point ?
(a) Intersect of Total cost line and Sales line

(b) Intersect of Fixed cost line and Total cost line

(c) Intersect of Fixed cost line and Sales cost line
(d) None of the above

mﬁﬁaﬁﬁaﬂm%
(a) HEAI 1 @@ (b) deeh! & aREda
(c) TISTGXl % HEAT TG (d) FISTGUl ! HEAT HH HTAT

What is the reason of obsolescence ?
(a) Maintenance of machines

(b) Change in technology

(¢) Increasing labours

(d) Decreasing the number of labours

<] ST SEAHT FTTd i 1 3 8

(a) SFFAA x T4 (b) &FIHE x TAE

(c) 3TFaH /g-cd (d) e/ I

Which is the formula to find mass of an object ?

(a) Volume x Density (b) Area x Density

(¢) Volume / Density (d) Density / Volume

T ¥iep 3 TRk 1 ST T F F1 G5

(@) %dii () %[al+a2+,/ala2]
© ;_ nr’h () % h? [3d — 2h]

! d — =4, [-ferdeh T, h-Fed - B, 2y, 0, AR R |

The formula used to find the volume of frustum of a cone is given by
(a) %dzi (b) %[al+a2+ ajas ]

L n T h2[3d-
(c) 3 mr (d) 7 [3d - 2h]

Where, d — diameter, /-conic length, h-height, r-radius, a,, a, areas

1048
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(7) T = Hr o fafr g porer worgu ! ot s sy e e 2
(a) W HE HETH QR 80%  (b)  HITeh HIEA Teih T HT 100%

(c) TS HEAT G GUHT 120% (d) T HIAT GeTeh U HT 150%

Payment made to a skilled labour by Taylor’s differential piece rate method is given
by

(a) 80% of standard piece raté (b) 100% of standard piece rate

(¢)  120% of standard piece rate (d) 150% of standard piece rate

(8) TuTTeHE Hergdt w1 rfiryry &
(a) WG % G HY BT (b) =" T glaud &
(c) TGl et T (d) 3T A § HIE TE

What is meant by incentive wages ?
(a) Reduction in rate of labour
(b) Provide bonus and facilities
(¢) Make the labour rate half

(d) None of the above

(9) Tt g ) o e g < T 2

@ T=LxfxN ) T=5N
(c) T=fLN (d T=L+fN
x

S T = 59, £ = SR01 @, N = goi 71, L = oo o

Machining time is calculated by

(@ T=LxfxN (b) e 12N
©) T=fLN (d). T=L+fN
X

Where T = time, f = feed rate, N = rotational speed, L = length of job

P.T.O.
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T B H1 I 80 T 40 mm FH F T 3 mm TEUS H1 Hre @ S @ | HEd H
@ et grft 7
(@ 35 (b)y 7
() 6 (d) 4

"To reduce the diameter of a rod from 80 mm to 40 mm the depth of cut is 3 mm. The

no. of cuts required will be

(@ 5 (b) 7
() 6 (d 4
Te FETd UTg T Gl Hred 7 Hel bt e T g
(a 4 (b) 3
() 5 d 7
For the thread cutting the number of cuts for mild steel metal are :
(a) 4 (b) 3
(0 5 (d 7
Afegn # ferga @ua it morn et gr < STl 2
@ P=Yxn @ P=YX
I n

— ! I * = x| X

(c) P= - n (d P=VxIxn

Fa ! P = WIRE, V = diees, 1 = a0 (fegd) n=s&ga g |

The consumption of electricity for welding is calculated by

@ P=Yxq b p=YxI
1 M
() Pm%xn d P=VxIxn

Whereas P = power, V = Voltage, I = electric current and n = efficiency

| m o 3 MLS. @il @t e % farg afe Afeen 1fd 10 m/hr 7 3m wwT@ T 478

B R 49 AvTa fe gt
(a) T0.40 (b) %2.50
(c) %025 (d) I H F HIE TE

Two M.S. plates of 1 m length are joined by welding. If the welding speed is
10 m/hr and labour charge 4 rs/hr then the labour cost is given by following :

(a) 0.40 ‘ (b) Z2.50
(¢) 025 (d) None of above
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"(14) urg SRk & Hrefgus ) e % S T A TgH Hi R R R
(a) FETSRA (b) sf=gm
(c) 3rqafén (d) g

To reduce the length and increase the diameter of a work piece in metal forging the
process is called as

(a) Drawing down (b) Bending
(c) Upsetting (d) Drafting

(15) BIRHT TTorT 3 e Bt e grn i <6t STt 2
aftf

20 mm % 3 mm
© wRIx20mmx3mm  (d) I H B

The flash losses in forging are calculated by

(@ R +20 mm+3 mm (b)

(a) Circumference + 20 mm + 3 mm

b Circumference
®) 20 mm x 3 mm

(¢) Circumference x 20 mm x 3 mm
(d) None of the above

(16) TH 1.5 cm YT i THIVT G HT ST F1C HT A% BT —

(@ 6 xgx (1.5)% cm? (b) 6 x%x (1.5)? cm?
2
(c) 6x 2 cm? (d) 6 x? x 1.5 cm?
For a hexagonal rod of side 1.5 cm, the cross sectional area will given by
(@) 6 x g x (1.5)2 cm? (b) 6x g x (1.5)% cm?
2
(c) 6 x (1) cm? d 6 x—‘g x 1.5 cm?

a7 o TR T 3 getat e g & e EgE g R

(@) 15 mm/m@=E (b) 13 mm/m TS
(c) 10 mm/m TR (d) 21 mm/m ST
The shrinkage allowance for pattern used for Grey cast iron is given by
(a) 15 mm/m length (b) 13 mm/m length
(¢) 10 mm/m length (d) 21 mm/m length

P.T.O.
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T IcUTE o IeATEH & 1T IeqTeH &mTa T 10.25, farshY 3uftead 2 2.56 9 &v 2 1.92

2 | fof e s @vm 9
(a) ¥14.73 (b) T 10.89
() %9.61 (d) 3T HAFE AR

For producing a product, the production cost is ¥ 10.25, the sales overhead is ¥ 2.56
and profit is ¥ 1.92. What will be the sales price ?

(@) T14.73 (b) 10.89
(c) %9.61 - (d) None of the above

4.5 cm SITE & HEAGUE W 2 /A Fred & fore fr Bift

4.5 2
——cm b ¢
(a) 20 (b) Vi

(c) %cm ' (d 45x2cm

2 thread/cm threads are cut on a 4.5 cm diameter work piece. The pitch will be

4.5 2
a —Ccm b < S
@ 2 () 4.5 i

(c) %cm (d) 45x2cm

et T e T 80/ Y 7 T Iwee 2 | 6 %12 T FT W T T A, S
| fer=8%2

(@ §62><?8 ) %X?tﬁ
(c) 80x8x%6 (d) S F & HE TE

A pattern maker is available at a rate of ¥ 80/day. If he works for 6 hours, what will
be labour cost if 1 day = 8 hrs ?

80
@ §x28 b Dxze

(c) 80x8x%6 (d) None of above
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(21) T VT a5 et =@ 12 em @ S97E 10 cm 2, % TSR 9 Hi I & @1

2 | 3fie =1 Ser F=91 BT ?

(a) 200 cm? (b) 280 cm?
() 211.6cm? (d) 220 cm?

The curved surface of a conical object of diameter 12 cm and height 10 cm is to be

covered by a sheet. What will be the area of sheet ?
(@) 200cm? (b) 280 cm?
(¢) 211.6cm? (d) 220 cm?

(22) e &1 379T9 FA &g 3 A1 a1 2 Al HIS §U WA G F5 W H=AG B0 6°

e =2t ¢ 2, A BT Wi Sl o /i wn ?

180 0
(a) 2mrx D (b) 2nmr x 180
0 ' 360
() 2mrx 360 (d) 2mrx —9

For making cylindrical shapes from sheet, it is bent at 6° angle subtended through

center. If r is the radius of bend, what will be length for bending ?

(a) 2nr >< ‘1'%9 (b) 2mrx I_gO“
0 360

(¢) 2mrx 360 (d) 2nrx )

(23) e w1 T feaeh gra forn e 7

(a) TGN (b) VY

(c) AR (d) wfeTeh

Estimating is done by

(a) An Accountant (b) Manager

(¢) An engineer (d) Owner

P.T.O.
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8 of 12) - 1048 .
¥ R 3t Sfeifies s § € 250 ward @, T 100 Tl W, 2 50 AREE
T BT @ | AT AT Tl ST 1 10% B, a9 fors gt e g 2 |
@ %410 (b) 425

(¢) T 440 C(d) 450

In a pen making industry the Material Cost is ¥ 250, Labour Cost is ¥ 100 and
Office Cost is ¥ 50. If profit is 10% of material cost, what will be sales price ?

(@) 410 (b) T 425

(c) T 440 _ (d) T 450
Tatefifesor (iffRmT) sfsrn g ¢

(a), SeHHEREAT (b) e H B HFE

() s ® B ® den (d) fic 6 Graeh we 3 A5 F g FET

What is planishing process ?
(a) To cut the sheet

(b) To make a hole in sheet

(¢) To bend the sheet corners

(d) Removal of bends from hollow surfaces of sheet

A ! BT e # S &8 D’ fA M FE AEE R

(a) D ' (b) D2

(c) D/M4 _ (d 2D

In facing operation of machining,.if diameter of job is ‘D’ length of cut will be :
(@ D (b) D2

(¢c) D/4 (d 2D

ST ATEET H W afed 6 < B v we we % g swor iy wm B 2 7
(a) W/4 ) W |

() W72 (d 2w

~ In cylindrical grinding, if W is the width of wheel, the value of feed per revolution

for rough cut will be :
(a) W/H4 b W

() W2 d 2w
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(28) = qeare F W fafr d AR w e whe e 2

(a) 1 hH TmE (b) e

(c) UG (d) ot srg

Which fact is not included in Ranking method for job evaluation ?
(a) Quantity of work (b) Inspection

(¢) Responsibility (d) Industrial unit

(29) % TEved # 10 cm TeU fog foFam S ® 1 afe wdw 7fd 350 rpm T W @

0.2 mm/rev &I, ?h%amﬁmaﬁm
(a) 242 (b) 1.43 e
(c) 1.82fme (d 223 firre

A 10 cm deep hole is made in a spindle. If cutting speed is 350 rpm and feed rate is
0.2 mm/rev, the time taken to make the hole will be :

(@) 2.42 min (b) 1.43 min
(¢) 1.82 min (d) 2.23 min

(30) ﬁiﬂgﬁ;ﬂ%ﬁr%

(a) AT+ (b)) HA AN - AH
(c) STEH AT + ATH (d) TEH AT — T

The formula for sales price is
(a) Total cost + Profit (b) Total cost — Profit,

(c) Prime cost + Profit (d) Prime cost — Profit (1x30)

" P.T.O.
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(i)
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T2 e ) FHESY | i goA o fafr wavE A L -
Explain job evaluation. Describe the methods of job evaluation.

9.5 mm T S 9 6 mm TS & AT g T w9 g 1 Fafor e R 1 AW
250 fFRR, st 30 V, Afee T 12 m/He  0.34 kg GTg S et g o =
2 | 5w T T 25/8e, WRE T 0.20/kWh d $oi9TS  40/kg, FRIH 1 Q&I 50%,
afeETer OIS 60% 7 | HiEe S, wifth &TTd & Sei@Ie/m %1 Td 114 hifarg |

A lap joint is prepared by welding for 9.5 mm M.S. plafes using 6 mm electrode.
The current is 250 A, voltage is 30 V, welding speed is 12 m/hr and 0.34 kg
metal/m is deposited on the joint. The labour charges are ¥ 25/hr, power charge is

Z 0.20/kWh and electrode ¥ 40/kg, the efficiency of machine is 50%, operation
factor is 60%. Find labour cost, power cost and cost of electrode/m. (6+7'4)

e, Aies 9 I = GHFTEY | ¥ e HI Ha § T8 S |
Explain pattern, mould and casting. Explain the pattern allowances in brief.

300 cm x 100 em x 2 mm 3THR 1 =1L & fa (1) % rgan R srema & 500
drg | far S el saed e st wew Y et wTed Y Tavashar Bt 7

= (1)

500 pieces of a part are prepared by a sheet of 300 cm x 100 cm X 2 mm as per
Figure (1). How much such sheets will be required assuming no wastage of
material ? : (6+7%)

Figure (1)



ME309
4.

(11 of 12) - 1048

i) 2eR s S o faftr 3 At st w e il § s g Hifv )

(i)

(i)

()

(i)

Explain the difference between Taylor’s differential piece rate method and
Merric’s differential piece rate method.

3em YATd 25 cmﬂﬁéﬁﬁmwﬁwwml.s cmmw%
YZHIVE B H FUa o5 T B | vy o8 6 o wd i @he gl
7% 8 |

A square bar of side 3 cm and length 25 cm is converted into a hexagonal bar of
side 1.5 cm each by hand forging. Calculate the length of hexagonal bar if scale
loss is 7%. (6+7%)

T -forese fag &1 aems. 8e @y ot fafgw |
Explain Break Even Point. Write its advantages also.
T YGEETd HTAGUE %1 2 cm T %1 AT d 2 cm A1 2 | 6 W 4 F8/em AT

?{%mm%?mwﬁwﬁﬁqlwﬁaﬁﬁnnﬁt 12 mfmmz’rlarshaa
3R e A |

A mild steel job is of 2 cm bore dia. and 2 cm length. 4 threadsfcm internal
threads are cut on it. Calculate the time required to cut the threads if cutting speed
is 12 m/min. Consider approach and over travel lengths. (6+7'5)

Tehetd & SNTd | 3R T8 HIfaT |

Differentiate between estimating and costing.

fam (2) # wefa @Ue F<% &1 g0 Td HIFAC T&@ AFTa hHt ToET FHif afg
Tgref &1 T e = 7.8 x103 kg/m? T AFTA T 8.0/kg ® |

}: 75
N 58
A6 o330 940 AT 20
yC D E 4
& e ' o Mo e
L—h-b'ﬁL—ZS—vlé-l—

&= (2)

All Dimensions are in mm.
P.T.O.
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Find the mass of lathe centre shown in Figure (2). Also calculate the coSt if
density of material e = 7.8 x 10° kg/m? and cost of material is ¥ 8.0/kg (6+7%)

]
1O

|._

= Tl %
e b sl 25 ol 6h—

Figure (2)

All Dimensions are in mm.

7. () ®fT 3mm it wfwE ausmT |
Explain the process of forging estimation.

(i) U B gfafem 100 U1 =1 Fmior Tet 8 sa gcer uered @Td T 160, ToIeT S0 ST A—
% 200 Ta IIREE ¥ 250 B & | A s Iufter ¥ TE # 40% B, @ ToAE |
U T o T BT TIEC T T U & 14.6% AT HHAMA AN 7
A firm manufactures 100 pens per day in which direct material cost is T 160,

direct labour cost is ¥ 200 and overheads are ¥ 250. If selling on cost is 40% of

factory cost. Find selling price of each pen so that the firm can earn profit of
14.6% of selling price on each pen. (6+7'4)




